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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2013 

LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. 
Attempt any six questions from question no. 2 to 10. 

1. 	(a) Fill in the blanks : 	 1x5=5 

(i) Smallest known gymnosperms 
is 

(ii) Mangifera indica belongs to family 

(iii) Onnamomum zeylanicum is commonly 
known as _ 

(iv) Botonical name of Indian Aconite is 

(v) Parenchyma, collenchyma and 
sclerenchyma are 	 tissue. 
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(b) Write the botanical name of a plant having 

(i) Winged pollen grain 
	 1x5=5 

(ii) Rhizomatus spice 

(iii) Gynostegium 

(iv) Liquid endosperm 

(v) Verticillaster inflorescence. 

(c) Explain the following in approximately 

twenty words : 	 1x5=5 

(i) Girdle trace 

(ii) Mature pollen grain of Ephedra 

(iii) Pome fruit 

(iv) Stubble crop 

(v) Bolting 

	

2. 	Draw well labelled outline diagram of any two of 
the following : 	 5x2=10 

(a) T.S. coralloid root of Cycas 

(b) T.S. needle of Pinus 

(c) V.S. leaf of Nerium 

	

3. 	Differentiate between any two of the following : 

(a) Manoxylic wood and Pycnoxylic wood 5x2=10 

(b) Indica rice and Japonica rice 

(c) Vegetable oil and Essential oil 
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4. 	Write short notes on any two of the following : 

(a) Pollination drop 	 5x2=10 

(b) Triticale 

(c) Poppy 

5. (a) Describe the development of male 	6 

gametophyte, pollination and fertilization in 

Cycas. 

(b) Describe the structure of female strobilus 	4 

and development of female gametophyte in 
Ephedra. 

6. Discuss the features of angiosperm life cycle that 10 
have enabled them to become dominant terrestrial 
plants. 

7. Elaborate the botany, uses and breeding 10 
improvement programmes of wheat / rice / 
sugarcane. 

8. (a) Legumes are very important constituent of 	5 

our diet as they supply most of our dietary 
requirement of proteins. However not all 
legumes are benificial to us. Explain the 
statement. 

(b) Describe any five diagnostic feature of the 	5 
family Musaceae / Liliaceae / Poaceae. 
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9. 	Mention the botanical name, family and 
economically useful part and two important uses 
of any four of the following : 	 21/2x4=10 

(a) Rye 

(b) Groundnut 

(c) Walnut 

(d) Beet root 

(e) Litchi 

(f) Clove 

(g) Nutmeg 

10. (a) Describe with the help of diagrams, five 	5 
diagnostic floral features of family 
Brassicaceae / Myrtaceae / Asteraceae. 

(b) What do you understand by hydrogenation 	5 
of oil ? 
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(c) fPi ri+19.17 -7F 	 : 	lx5=5 

(i) fa4N 31721-  

(ii) 14(Nichut 

(iii) 4)H 1-hz1 (Pome) 

(iv) V 1-h-Hei (stubble crop) 

(v) dc\u-Ale.-i (Bolting) 

	

2. 	1:1 4--iroroci 4 4 f-*--tt -114-114d r-c41 -q9T$7 : 5x2=10 

(a) .c(//ch 	ci I ci 	VI chi 3-1-11;7-2T chi. I 

(b) 	ci-1 	 Wa 

(c) #f?zr4 	-r-rcc r cb1 	--ra I 

	

3. 	̀-t+-1 ci 	td 	t 	 : 	5x2=10 

(a) cRclqk,ch eb18 	..11q1tc\ch fill 

(b) T 	i Marl .12.1T 4 -Ichl 

(c) TITN ctrl 

	

4. 	(5c1 	ft-jle t 	4R-Ticr fe-tirt -fF-PaR : 5x2=10  

(a) Litt lui 

(b)  

(c) T-frf 

	

5. 	(a) 	Hict.ALI 	-97 	 fd-*74, 4ti41111 	6 

(b) 	)37T 4 4-Hqrqtt a.)1 	yrrer-fIrq, 	4 
fq-WF-{4 	oqi&sir -.1-rr--A7 

	

6. 	31-117 

TR -519.1Tt 4K4 

Tr-6ffcLui 4-1Twr 	t i  
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7. 	=41ao/ Tr--A. *Litq4 	-w-1 oct; , 3tr4r174 	10 

VTR cbieisto-t*fatiq 14 -ri-C47 I 

8. 	(a) f7t4 	-gfru-trqPil 	 \14) liTffciui 	5 

d t I F-f-).& 	Tcitr P14 7if{ ('rte .ffr4T- Rrw 

1 	t1 .441.(sql 	.1-& k-H-1.1 	I 

(b) T#11-/rilf- m.frirrIm.Pr 	 STN 5 

	 cl'CLR I 

9. 	rirtgd 	ft-twr-f a-R.Lirdi, TR, -t-F 3-Trfft 

,&co-i 1710 -ffqr 	 39747 ff.1771 

(a) tl 	 21/2)(4=10 

(b)  

(c) 31-7-44Z 

(d)  

(e) rt1 	X11 

ri41 

(g) 	zitql-hrt 

10. (a) t7:ft/ 	Tft/4Tn7:11. 	 -SO4 	5 

7:to auk 1r I 

(b) 	 31rcr 	 ? 	5 
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